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Algebra II Summer Review 
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Simplify each expression.

1)  8p(-2 - 7p) 2)  7(1 + 10k)

Solve each linear equation.

3)  -7p + 5 + 5 = 24 4)  -14 = x - 7 - 2x

5)  -8x + 3x = -20 6)  -6(1 - 8k) = 378

7)  -4(6n - 5) - 3 = -127 8)  -7.8(r + 7.5) = -116.22

9)  4(-5.98 - 2.6r) = -92.56

Evaluate each function.

10)  k(n) = n - 1; Find k(-5) 11)  w(x) = x2 - 5x; Find w(2)

12)  p(a) = a2 + 5a; Find p(6)
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Find each product.

13)  (-v - 8)(4v - 7) 14)  (2b - 8)(-5b + 4)

15)  (-3x2 - 6x - 6)(-x + 5)

Factor each expression completely.

16)  m2 + 9m + 20 17)  n2 - 17n + 70

18)  a2 - 6a - 40 19)  3x2 - 20x + 12

20)  3b2 + b - 30 21)  10r4 - 18r3

Factor each expression completely.  (special cases)

22)  9p2 - 1 23)  25m2 - 9

24)  4x2 - 12x + 9
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Simplify each expression.

25)  (6n3 - 5n4 + 4) - (4n4 + 4 + 5n3) 26)  (2v2 - 6v4 + 4v) - (3v + 6v2 + 8v4)

27)  (7a + 6 - 7a2) - (a2 - 1 - 2a)

Simplify each radical to its lowest terms.

28)  24 29)  32

30)  256 31)  98

Sketch the graph of each line.

32)  y = -x - 3
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33)  y = 2x + 4

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6



©X B2s0u2Y2[ zKNustcan DS[o]fVtiwuaxrFeI ZL\LGCB.` z fAQlElL GriiLgxhwtgsq rrjensgerr\v_eTdu.L F VMpaLdBe\ `wzi`tuhv EIYnCfrien]iXtYeh LAGlfgJeVbRrGaC _2E.

Worksheet by Kuta Software LLC

-4-

34)  y = -3x - 3
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35)  x - 5y = -10
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36)  x + 2y = -10
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37)  y = -4
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Write the slope-intercept form of the equation of each line.

38)  
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40)  
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Solve each system by graphing.

41)  y = 
1

3
x + 3

y = 
5

3
x - 1
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42)  y = -7x - 4
y = -x + 2
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Graph the image of the figure using the transformation given.

43)  translation: 1 unit right and 3 units down

x

y

Q

R

S

T

44)  reflection across the y-axis

x

y

T

S

R

Find the measure of each side indicated.  Round to the nearest tenth.

45)  

13
x

B

A

C
31°

46)  

x

7.1

BA

C

54°

Find the measure of each angle indicated.  Round to the nearest tenth.

47)  

7

6 B

A

C
q

48)  
3

11

B

AC

q
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Answers to Algebra II Summer Review

1)  -16p - 56p2 2)  7 + 70k 3)  {-2} 4)  {7}
5)  {4} 6)  {8} 7)  {6} 8)  {7.4}
9)  {6.6} 10)  -6 11)  -6 12)  66
13)  -4v2 - 25v + 56 14)  -10b2 + 48b - 32 15)  3x3 - 9x2 - 24x - 30
16)  (m + 5)(m + 4) 17)  (n - 7)(n - 10) 18)  (a + 4)(a - 10) 19)  (3x - 2)(x - 6)
20)  (3b + 10)(b - 3) 21)  2r3(5r - 9) 22)  (3p + 1)(3p - 1) 23)  (5m + 3)(5m - 3)
24)  (2x - 3)2 25)  -9n4 + n3 26)  -14v4 - 4v2 + v 27)  -8a2 + 9a + 7

28)  2 6 29)  4 2 30)  16 31)  7 2
32)  
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38)  y = -4x - 1 39)  y = 5x + 3
40)  y = -

3

4
x - 2

41)  (3, 4)

42)  (-1, 3) 43)  

x

y

Q'

R'

S'

T'

44)  

x

y

S'

R'

T'

45)  6.7 46)  8.8 47)  49.4° 48)  15.3°


